J9)s1ue)

Canister Load Cell

WBKL |

Canister
Load Cell

2 2
> UEZx
> P68 1Z30f|

=2 A7

MeAfot
> MMM ME

AEEE
> S AjUZ E3 AHY
> EHAH Y

HZSxzH

» WBKL (10ti~30tf)

2-SR250

150

%
X
XX
]'z:
£
%%
2 Flexible Rubber ~ ~

107

HESAdH
WBKL2 AH[QIZ|A Z/AE IHAQ| Canister EtY 2EMQIL|CEH HH 2X9| =
EfY 2CH=2 ST 3 H#H3 ARE | EEH AAY S 77 MY otFo| MetgtL|ct
HISAIE
Capacity(R.L.) tf 10, 20, 25, 30, 50, 100
HAEZH(RO.) mv/V 2.0+0.005
2 HHA mv/V 0.0+0.020
iz =2 - A B
H| =M % R.0. <0.02 <0.03
S|AHZ|AlA % R.0. <0.02 <0.03
Zdiel= o2 % R.0. <002 <003
HEELA % R.0. <0.01 <0.02
32308 % R.0. <0017 <003
3 27302 % R.0. <0.017 <0.03
2= - <1/5000 <1/3000
gt =9| 2t mv/V 0.0004 0.00067
coz |- S %/10°C <0.014 <0.03

=—°° |-&= %/10°C <001 <0.03

— ™ olypHet| v 10
WS s eizpmer v 15

— olZx{&t 0 350+35
Sy - E3xe 0 35035

— MoK MQ > 2000
S HAHHO| c -10to +40
SI8=2=HS C 4010480
A U EHE 2| AHQI2|AY
7lolE AfE {8 x 4P x 12M (PVC)
518 st % R.L. 150

» WBKL (50tf~100tf)
2-SR300

@51.2

g 3
I \ Flexible
Rubber
]
o
R

127.64

127.64

©
5




Accessory

Ki0ssa20y

4-M12x1.75
(Wrench Bolt)

4-M12x 1.75
(Wrench Bolt)
-M12x1.75
(Wrench Bolt)
4-M12x1.75

|
4

107

s
V&bﬁkbxxpxxp?
e atet e etee

IR RRIILRLRS
XK XXX UHH XK KK
R KSR IR R ERIKE
BRERRIILLLRILL]

2118
P.C.D9Q

(Wrench Bolt)

[Sesesesesatotetetesstototel
BRRRRIRERRI]
KRR

1276

2118

Canister Load Cell
» 10t~ 30tf

AMMEI=H

Flexible
Rubber

2118

g
o

By-pass Strap
Rubber
Bellows

~
a
a
=
-

x
<)
=
~

2-M6 x 1.0 DP12 1

» 50tf~100tf

*HIE Olo|Kl= A2 OIS 4 UM, ALHol| w2t U HAE = QELCh



